
 

 

 

 

 
Réduire les expressions suivantes : 

2𝑥 + 23𝑥 =                ;     −8𝑥 + 2𝑥 =               ;  −2𝑥 − 9𝑥 =               ;    7𝑥 + 𝑥 =               ;   3𝑥 − 7𝑥 =         

−𝑥 + 9𝑥 =                  ;     12𝑥 − 7𝑥 =             ;   −𝑥 − 𝑥 =                ;    𝑥 + 𝑥 =               ;   
−9 

5
𝑥 +

 3 

4
𝑥 =         

𝑥 × 𝑥 =               ;     −4𝑥 × 9𝑥 =            ;  −8𝑥2 × −5𝑥3 =               ;    12𝑥 × 𝑥2 =              ;   3𝑥2 × −7𝑥2 =     
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𝐷 = 7𝑥3 + 𝑥 − 13 − 2𝑥2 − 3𝑥 − 7         ;        𝐸 = −𝑥 + 21 + 𝑥2 − 12 − 𝑥 +
 2 

3
𝑥2 

  
 

Développer et réduire : 

𝐴 = 7 2𝑥 + 5 + 4𝑥     ;    𝐵 = 5𝑥 𝑥 − 10      ;    𝐶 = −8 −3𝑥 + 10 − 7𝑥      ;    𝐷 = −2𝑥 𝑥2 − 8 + 6𝑥  

𝐸 =
2

3
  6𝑥 −

8

5
          ;        𝐹 =

5

4
𝑥 −3𝑥 + 5         ;         𝐺 =  𝑥 + 7  𝑥 + 6      ;     𝐻 =  𝑥 − 4  𝑥 − 8  

𝐼 =  3𝑥 + 2  5𝑥 + 1    ;   𝐽 =  𝑥 − 4  3𝑥 − 5     ;    𝐾 =  −2𝑥 + 3  2𝑥 − 6    ;   𝐿 =  −6𝑥 − 1  −7𝑥 − 2  
  

 
             

Développer et réduire : 
𝐴 = 2𝑥 1 − 4𝑥 + 3𝑥 2𝑥 + 2                           ;               𝐵 = −4𝑥 −2𝑥 − 3 − 5𝑥(3𝑥 − 1) 

𝐶 = −3𝑥 𝑥 − 2 −  −2𝑥 + 4  −1 − 𝑥          ;              𝐷 = 5 7𝑥 + 3 + (𝑥 + 2)(5 − 2𝑥) 

 
 

Développer et réduire : 

                      𝐴 =  𝑥 + 10 2              ;              𝐵 =  3𝑥 + 5 2              ;             𝐶 =  𝑥 −
 5 

2
 

2

  

𝐷 =     
4

7
𝑥 −

7

8
 

2

                ;                𝐸 =  𝑥 − 5  𝑥 + 5               ;                𝐹 =  7𝑥 − 9  7𝑥 + 9   

𝐺 =  5𝑥 + 2 2 −  𝑥2 + 7 − 3𝑥              ;          𝐻 =  2𝑥 + 5  2𝑥 − 5 + 3𝑥(𝑥 − 2) 

 

 
Factoriser : 

22 6A a a         ;      25 5B ab abc          ;      
2 224 12 4C ab a b abc   

   5 3 2 5 2 1a x x x x    
     

;     23 3 2 5 3b x x x x   
    

;    3 2 212 4 3 4c x x x x    

   3 2 1 2 1d x x x   
        

;         
2

5 3 3e x x x    

 

  
Factoriser : 

                        𝐴 = 𝑥2 + 10𝑥 + 25        ;      𝐷 = 𝑥2 − 14𝑥 + 49         ;         𝐺 = 𝑥2 − 81 
 

                          𝐵 = 𝑥2 + 18𝑥 + 81        ;       𝐸 = 𝑥2 − 16𝑥 + 64         ;         𝐻 = 121 − 𝑥2 
 

                            𝐶 = 9𝑥2 + 24𝑥 + 16      ;       𝐹 = 25𝑥2 − 60𝑥 + 9         ;           𝐼 = 64𝑥2 − 144   
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